Dilution and Ion Concentration Calculation Worksheet		Name: ________________

Dilution Calculations
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Concentration of Ions in Solution
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1. A 50.0 ml sample of 0.100 M NaOH was diluted by adding 30.0 mL of water. What was the
resulting [NaOH]? (reminder [ ] = concentration)
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2. A35.0 mL sample of 1.5 M H;SO, was diluted to 50.0 mL. What was the final [H;S0.]? (Note:
the wording of this problem is different, what is the final volume?)
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3. Astudent dissolved 0.25 g of calcium nitrate in 100.0 mL of water. A 50.0 mL sample o this
solution was diluted to 75.0 mL. What is the final concentration?
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4. Calculate the concentration that results when 18.0 mL of 0.40N;CrO, is added to 20.0 mL of

water.
. v, L20wt e m
V= 1goal = 0 01501 G ¢ T Semmel”
u Wl
Coromom Elely = olam ko,

\, = 38.0ml- 00TEOL

c, =P




image2.png
Linos] = 0,20 pui L 0O30L — 0.0% M

- O live L
[A03)3) = oS pul | 0.91SeL _ O. oM
[ ©.liec
HNO3 (cq) = H gy +NO3 (eg)
0.064 M Ok 006 M
ALNO3)y gy = Alleg) + 30T gy
O-1oM O.doM 0.30M

LHT) = 0 064M
LANOYT) 20 04M + 0,300 = 0.36M
LAIZ) = o.oM

[ H2504) = 0.85 mel , D.022L = 0.0(GM
5. o.o5%L
L NepSoy) = 1.3 pmet L L34t o 0.99M
b o.o5P0L
H2S0y (o) = 2H T eg) + S~ g )
0.019M 0.L3IM 0.019Mm
Na, SOy Cogy — 2NaTlagy r SaptTiag)
0.6 M [eM 0.79M

LH+*)= 0.038M
LSord " ootam + 0.0am = 0.81M
L Nat) = 6™




image3.png
3. [ kzPoyl = oo L« DOSCOL - 0.050M

0. ioooL
L k2Goy] = 0.20mel | g.o%ce | D-08M

- O uoee
k3 POy Gy = 3 Ly PO g,
0.050M 0.1SM  p.05eM
b GOypcegy » 26 gy + Gl ey
0-0gom O.16M O.0foM

LK) = 0. 1SM +o.l6M = 0.31M
LPo3) = o.050M
[t = 0.050Mm

=3
4 CluwgyPoud = 23018 |, ouver - LexisTM

[ O.(4o0L
L(NH4)2S) = S8 xio ol | poodost _ L3 x16TM
L O[O
(NHe) 3 Poy gy = 3 N Ty PO oy
J. bxio73m 4.88157 0 k1o 3N
(Nig)y Scogy = 2 NHY tegy + S*eg)
[ 3xie™M 2601070 L3x/emtmg

L) = %8 x197 30 + 2bxio™ M 2 0.03IM
LAg3D = lexio?m
[S2) = 1 3xio™>M





Do snd on Concentrtin Colcuistion Worchest Yo

Vi Shont - o o fome "

Ve oa s o ovan L s s s 00k
e

FIprEa
Coe e
e

Aroagye b, ossisiel ¢,

Voo sronie
Vi e norme G,

[

Vos Bonts smrroc

P




